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S.K.H. Lam Woo Memorial Secondary School
2019-20 F.1 Admission Application

First Round Interview (Problem Solving in Mathematics) Set A

A and B are playing a game: In the beginning, 4 and B has certain numbers of pieces of small
stones respectively. Then both of them put some of their own stones into their left hands or right
hands (They may put all stones on one hand so that no stone on the other hand). Both 4 and B know
the total number of stones that each player has, and both players can control the number of stones
to be put in their own left or right hands. However, both players do not know how the other player
distribute the stones in their left or right hands.

After the stone are put, both of them open their left hands and count their numbers of stones.
If 4 has more stones than B, or if their numbers of stones are equal, then 4 wins this set. If B has

more stones than A4, then B wins this set.

Then in the next set, they compare the numbers of stones in the right hand. The rules to determine
the winner of this set is the same as that in last set.
If A wins both sets, then 4 wins the game. If B wins at least one of the two sets, then B wins the

game.

Here is an example:

Let 4 has 10 stones and B has 9 stones.

A put 7 stones on left hand and 3 stones on right hand (so 10 stones in total).

B put 5 stones on left hand and 4 stones on right hand (so 9 stones in total).

In first set, comparing the stones on left hands, 4 got more stones so A won the set.

In second set, comparing the stones on right hands. B got more stones so B won the set.

As B won on at least one of the two sets, B won the game.
1. If A has 6 stones and B has 3 stones, what is the best strategy for 4? (i.e. How should he

distribute the number of stones in his hands so that he will have the highest chance to win the

game?) Please briefly explain. (2 marks)

2. If A has 5 stones and B has 3 stones, what is the best strategy for B? Briefly explain. (2 marks).

3. When B has 3 stones, if B has a strategy to guarantee to win, what is the maximum number of
stones that 4 has? Why? (2 marks)

4. Ming said, when B has 20 stones, if both 4 and B are using their best strategies, then 4 will
have a better chance to win when A4 has 35 stones then that when A4 has 25 stones. Do you
agree? Explain your answer. (3 marks)

(In the interview, candidates need not repeat the questions to the interviewers).

(The interviewers may ask you further question to elaborate your answer).



